= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND
1. SCREW M6X35
VITE M6X335
TORNILLO M6X35
WINKER SPACER FITTING SCHRAUBE M6X35
VIS M6X35

TT9112-16 2. SPEGIFIC THICKNESS H6MM

SPESSORE SPECIFICO HEMM
ESPACIADOR H6MM
ABSTANDSHALTER H6MM
WWW.BARRACUDAMOTO.COM ESPACEUR H6MM

\ / ya
\ / /
\ /
\\ / / P
\/ N
\ i A \
ORIGINAL INDICATORS NUT




